
208cc (G24)
Engine Parts Manual

***If engine has an air valve located off of the exhaust manifold, reference Engine Parts Manual 0J5628FPMNL or 
0J5628GPMNL.

If engine does NOT have an air valve located off of the exhaust manifold, reference Engine Parts Manual 0H33750MNL.

Air Valve



	 2	

208cc ENGINE

ITEM PART NO. QTY. DESCRIPTION

1 0H33750110 2 PLUG, DRAIN

2 0H33750111 2 WASHER, DRAIN PLUG

3 0H33750112 2 SEAL, OIL, CRANKSHAFT

4 0H33750113 1 CRANKCASE

5 0H33750114 1 BAR, SWAY, REGULATING

6 0H33750115 1 WASHER 

7 0H33750116 1 PIN, SPLIT

8 0H33750117 1 SHAFT, REGULATING

9 0H33750118 1 RING, SNAP

ITEM PART NO. QTY. DESCRIPTION

10 0H33750119 1 GEAR ASSY, DRIVE

11 0H33750120 2 DIPSTICK,(WITH GASKET)

12 0H33750121 1 COVER, CRANKCASE

13 0H33750122 1 GASKET, CRANKCASE

14 0H33750123 2 BEARING(6205)

15 0H33750124 2 PIN, SET, M8X14

16 0H33750125 6 BOLT, M8X33.5

NOT 
SHOWN 0H337500SM 1 208CC G24 GASOLINE SM KIT

Crankcase

	 2	



		  3

208cc ENGINE

ITEM PART NO. QTY. DESCRIPTION

1 0H33750126 6 BOLT, M6X12

2 0H33750127 1 COVER, CYLINDER HEAD

3 0H33750128 1 GASKET, CYLNDR HEAD CVR.

4 0H33750129 1 ROCKER ASSY, VALVE

5 0H33750130 1 GUIDE, PUSH

6 0H33750131 1 CAP

7 0H33750132 1 SEAT, EXHAUST SPRING

8 0H33750133 1 SEAT, INTAKE SPRING

9 0H33750134 2 SPRING, VALVE

10 0H33750135 4 BOLT, M8X60

11 0H33750136 2 STUD, AM 8X60

ITEM PART NO. QTY. DESCRIPTION

12 0H33750137 1 HEAD, CYLINDER

13 0H33750138 1 GASKET, CYLNDR HEAD 

14 0H33750139 2 PEN, SET

15 0H33750140 1 VALVE, EXHAUST

16 0H33750141 1 VALVE, INTAKE

17 0H33750142 2 TAPPET

18 0H33750143 2 ROD, PUSH

19 0H33750144 2 STUD, AM 6X112

20 0H33750145 1 COVER, LEAD WIND

21 0H33750146 1 SEAL, OIL PIPE

22 0H33750147 2 CLIP

Cylinder Head

		  3



	 4	

208cc ENGINE

Crankshaft, Piston, Con. Rod, Camshaft & Flywheel Assy

ITEM PART NO. QTY. DESCRIPTION

1 0H33750148 1 RING SET, PISTON

2 0H33750149 2 CIRCLIP, PISTON RING

3 0H33750150 1 PISTON

4 0H33750151 1 PIN, PISTON

5 0H33750152 1 ROD ASSY, CONNECTING

6 0H33750153 1 CRANKSHAFT ASSY.

ITEM PART NO. QTY. DESCRIPTION

7 0H33750154 1 CAMSHAFT ASSY

8 0H33750155 1 FLYWHEEL

9 0H33750156 1 FAN, FLYWHEEL

10 0H33750157 1 CUP, STARTING

11 0H33750158 1 NUT, M 14X1.5



		  5

208cc ENGINE

Recoil Starter & Ignition Coil Assy

ITEM PART NO. QTY. DESCRIPTION

1 0H33750159 1 SWITCH, ENGINE

2 0H33750160 1 HOOD, FAN

3 0H33750126 5 BOLT, M6X12

4 0H33750161 4 BOLT, M6X8

5 0H33750162 1 STARTER ASSY, RECOIL

6 0H33750163 1 SHROUD, COMPLETE

ITEM PART NO. QTY. DESCRIPTION

7 0H33750164 1 DIODE

8 0H33750165 1 SENSOR, OIL

9 0H33750166 2 BOLT, M6X14

10 0H33750167 2 BOLT, M6X22

11 0H33750168 1 COIL ASSY, IGNITION

12 0H33750169 1 PLUG, SPARK



	 6	

208cc ENGINE

Air Cleaner Assy

ITEM PART NO. QTY. DESCRIPTION

1 0H33750170 1 CLEANER ASSY, AIR

2 0H33750171 2 NUT, M6

ITEM PART NO. QTY. DESCRIPTION

3 0H33750172 1 TUBE, BREATHING

NOT 
SHOWN 0H33750219 1 ELEMENT, AIR CLEANER



		  7

208cc ENGINE

Fuel Supply System

ITEM PART NO. QTY. DESCRIPTION

1 0H33750173 2 CLAMP

2 0H33750174 1 HOSE, FUEL, M4.5X170

3 0H33750175 1 GASKET, INTAKE

4 0H33750176 1 BLOCK, CONNECTING

5 0H33750177 1 GASKET, CARBURETOR

6 0H33750178 1 CARBURETOR ASSY

7 0H33750179 1 GASKET, AIR CLEANER

ITEM PART NO. QTY. DESCRIPTION

8 0H33750180 1 REGULATOR ASSY

9 0H33750181 1 SPRING, BACK

10 0H33750182 1 SPRING, REGULATING

11 0H33750183 1 ROD, PULLING

12 0H33750184 1 BOLT, LOCK

13 0H33750185 1 ARM, REGULATING

14 0H33750171 1 NUT, M6



208cc ENGINE

Starter & Generator Assy

ITEM PART NO. QTY. DESCRIPTION

1 0H33750186 1 MOTOR ASSY., STARTER

2 0H33750187 1 BOLT, M6X28

3 0H33750188 1 BOLT, M6X32

4 0H33750113 1 CRANKCASE

5 0H33750189 1 COIL, CHARGE

ITEM PART NO. QTY. DESCRIPTION

6 0H33750190 2 BOLT, M6X35

7 0H33750191 1 CORD, CLAMP

8 0H33750126 2 BOLT, M6X12

9 0H33750155 1 FLYWHEEL

Manual Part No. 0H33750MNL	 Rev B (10/30/12)	 Printed in USA

©2012 Generac Power Systems, Inc. All rights reserved.
Specifications are subject to change without notice
No reproduction allowed in any form without prior written consent from Generac Power Systems, Inc.


